8B

1) Y=-2X+5, m=-2, b=-5

y

+

3) X=0, m=undefined, b= none or undefined;
graph is Y-axis

5) Y=2X-1, M=2 b=-1
Y

2) Y=3RXY=-32X+0, m=-32, b=0
Y

4) Y=-3X+2, m=-3, b=2

Y

Y

6) Y=4,Y=0X+4, m=0, b=4
Y

8C
1) days , dollars
0 -4
1 5
2 -6
3 -7
2) on the graph
3]‘ '1+4
$=-D-4
4) 0,2
days , money
0 0
1 2
2 4
3 -8
5) on the graph
6) -2,0

7) slope =4, intercept =2

B) Y=dX4+ 2

9) quadrants 1,2,3

10) on the graph

#2 #5

11) 6R-90R=70

30R=70, R=-21/3

12) -1B + 54X = 27
9(-2 + 6X) = 5{3&
24+6X=3, =5 X=58

13) [(6+5R2-1)+12=3X+ |-2X|

(112-1) £ 12=3X + 2X
1204+12=5X, 10=5X, 2=X

14) 4B - 32B = 36B - 8BY

4B(1- B)=4B(9 -2
-7=9.-2Y, -ﬁ--"ZL. 8B=Y

15) 100(1.03) - 100(.8Y) = 100(5)
103 - B0Y = 500

-80Y =397, Y =-477/80 or 49625

15 1 12 41 1

16) M%?=M7+iﬁmz—}
225Y = 132 + 230
225Y =362, Y =11371225

17) 5X - 20 = 50X + 35
55 = 45X, X =-12/9

6 3 10 19 1 17
18) (80 S X - (60) 5 X = iso)?

18X - 190X =255, X =-183/172

19) WFx7=5

WF 5
5 e —
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